H & 0l & AHS B Ml A

SAf: EOHe
Hu: F0I O MUIA HZ(HOHe)

o9l SBHO! HOIB 2 (crol: m2)
SN - BE - SA(B) - NIRAY - BES 0 &t ol o HIRE2
oo 1,470,855 1,428,965 41,900
=0l OIE MHIA HIZ(Hor) 580,739 576,830 3,900
SSX0l Hoig 29 580,739 576,839 3,900
Y2 o H2l(Hoe) 93, 163 9,263 2,900

201 B2t 37,220 36,320 900
01 AL 22| 8,744 7,844 900
OUIAN HlaY Hx| 900 0 900
206 THZ b 1,000 9,000 2,000
01 THEHI 11,000 9,000 2,000
oyelg RF 247 7,000,002 7,000 5,000 2,000
DTAE U I RAB2I(HOE 217,566 216,566 1,000
201 Q2| 64,342 63,342 1,000
01 AFR 22| 7,178 6,178 1,000
OZE - 20/a A 1,000 0 1,000
Z=0ITO|S A XISIHE (HOrDT) 526,300 506,300 20,000
PHUS XIS (HOrSH) 526,300 506,300 20,000
A7S FOISRAR(HOI) 400,000 400,000 0
401 AIEHIL L] 400,000 400,000 0
01 A& 400,000 400,000 0
OSLH3 OIS FHIZAL
A% 14,500,002 14,500 36,000 £21,500
O DRI LTI ZA
A% 24,449,302 24,450 36,000 A11,550
O2Y3 IS 2T A
A% 31,799,0402! 31,800 38,000 £6,200
05323 DISERATHTA
A% 17,008,2802 17,009 36,000 A18,991
ORY! S2EFTA
A% 18,958,4602 18,959 38,000 A19,041
OFE2 OLARH M| ZA
A% 29,794, 4602 29,7% 36,000 £6,205
OS2 HEZHIZA
A% 20,312, 1902 20,313 36,000 A 15,687
O3 S2EFTA
2% 31,006,202 31,007 36,000 £4,993
O] HIETHIBA
AT 3,484,820 3,485 36,000 £3,515
ORE3 S2THTA
A% 25,438,402 25,439 36,000 ~10,561
OFA2 MEHHIZA
A% 19,740, 1902 19,741 36,000 A16,259
OANLNEBS(E2IZXFIX T4
B 2,387 2,387
O&32 HIEFHIZA 7,079 7,079
ORY?2 S2EFTA 6,504 6,504
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